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Abstract

We continue our investigation of product integration rules associated with weights
on the whole real line, such as exp

�
�jxj�

�
; � > 1. In an earlier paper, we consid-

ered interpolatory integration rules whose abscissas are the zeros of an orthogonal
polynomial associated with the weight. In this paper, we show the advantage of
adding two extra points to the zeros, following an idea of J. Szabados. This allows
convergence for a larger class of functions.

1. INTRODUCTION AND STATEMENT OF RESULTS

The product integration approach for approximating integrals involves splitting the
integrand into a \di�cult" but speci�ed function k(x), and a relatively smooth, but
initially unspeci�ed function f(x). Thus we seek to approximate

I[k; f ] :=

Z 1

�1
f(x)k(x)dx: (1)

The function k(x) is absorbed into the weights in the integration rule, which we
denote by

I�n[k; f ] :=
n+1X
j=0

w�jnf(x
�
jn): (2)

Thus our integration rule involves n+ 2 distinct points fx�jngn+1j=0 . At this stage we
do not order these abscissas in any particular fashion.
We restrict ourselves to interpolatory rules, that is,

I�n[k;P ] = I[k;P ] =

Z 1

�1
k(x)P (x)dx; P 2 Pn+1; (3)

where Pn+1 denotes the set of all polynomials of degree � n + 1. If L�n[f ] 2 Pn+1
denotes the Lagrange interpolation polynomial to f at fx�jngn+1j=0 , then

I�n[k; f ] =

Z 1

�1
L�n[f ](x)k(x)dx: (4)



The convergence of interpolatory integration rules has been widely studied for
weights on �nite and in�nite intervals [2], [9], [12], [17-19]. In an earlier paper, we
investigated rules whose abscissas are zeros of orthogonal polynomials associated
with a given weight. In this paper, we propose to show the advantage of adding two
extra abscissa to the zeros of the orthogonal polynomials, at least from the point of
view of convergence theory. This idea was �rst used by J. Szabados to reduce the
size of Lebesgue constants in Lagrange interpolation [20].
The weights we consider are Freud weights, that is have the form W := e�Q,

where Q is even, and of smooth polynomial growth at 1. The archetypal example
is

W�(x) := exp
�
�jxj�

�
; � > 1: (5)

See [8], [15] for surveys on weighted approximation and orthogonal polynomials. Let
pn(x) := pn(W

2; x) 2 Pn denote the n th orthonormal polynomial for the weight
W 2, so that Z 1

�1
pn(W

2; x)pm(W
2; x)W 2(x)dx = �mn: (6)

The zeros of pn are denoted by

�1 < xnn < xn�1;n < : : : < x1n <1: (7)

Let ��n denote the points where jpnW j attains its maximum, that is

jpnW j (��n) = kpnWkL1(R): (8)

It can be shown (see below) that �n is close to x1n but there is not a general result,
stating, for example, that �n > x1n. We use as our n+ 2 interpolation points�

x�n+1;n; x
�
nn; : : : ; x

�
1n; x

�
0n

	
:=
�
� �n; xnn; xn�1;n; : : : ; x1n; �n

	
: (9)

We note that the points x�jn decrease in size as j increases, except possibly for
j = 0; n+ 1.
Some measure of the size of the weights wjn in I

�
n[k; f ] is provided by the be-

haviour as n!1 of the companion rule

I�cn [k; f ] :=
n+1X
j=0

��w�jn�� f(x�jn): (10)

Our main result is:

Theorem 1. Let W := e�Q, where Q : R! R is even and continuous in R, Q00
is continuous in (0;1) and Q0 > 0 in (0;1) while for some A; B > 1,

A �
d
dx (xQ

0(x))

Q0(x)
� B; x 2 (0;1): (11)



Let 1 < p <1, q := p= (p� 1), � 2 R, � > 0. Then for

lim
n!1

I�n[k; f ] = I[k; f ] (12)

to hold for every f : R! R that is Riemann integrable in each �nite interval and
satis�es

lim
jxj!1

jf(x)jW (x) (1 + jxj)� = 0; (13)

and for every measurable function k : R! R satisfying


 �kW�1� (x) (1 + jxj)�



Lq(R)

<1; (14)

it is necessary and su�cient that

� >
1

p
�minf1; �g: (15)

Moreover (15) guarantees that

lim
n!1

I�cn [k; f ] = I[k; f ] (16)

under the above conditions on f and k.

The condition (15) is far simpler than that in [9] where product integration
rules based on fxjngnj=1 were studied. For the special case of the weights W� , in
[9] instead of (15), the necessary and su�cient condition turned out to be:

� >
1

p
�minf1; �g; p � 4

� >
1

p
�minf1; �g+ �

6

�
1� 4

p

�
; p > 4 and � = 1;

� � 1

p
�minf1; �g+ �

6

�
1� 4

p

�
; p > 4 and � > 1:

(For the general weights treated above, the condition is more complicated to state
and involved the behaviour of the Mhaskar{Rahmanov{Sa� number). Thus for
p > 4, basing rules solely on the zeros of the orthonormal polynomials results in
convergence for a smaller class of functions f . The reason for this is the growth of
the orthonormal polynomials pn near x1n and xnn. Insertion of the extra abscissas
� �n damps this growth. It seems certain from the proofs in [20] that we could
replace �n above by any �n > 0 satisfying

jpnW j (�n) � �kpnWkL1(R):



Here 0 < � < 1 is �xed independent of n.
It is obviously of interest to say something about the behaviour of the weights

w�jn. To expand on this, we shall need more notation. Throughout, C;C1; C2; : : :
denote positive constants independent of n; P 2 Pn, and x 2 R. We sometimes
write C 6= C(k) to emphasize that C is independent of k. The same symbol does
not necessarily denote the same constant in di�erent occurrences. For sequences of
real numbers (cn); (dn), we write

cn � dn

if there exist C1; C2 > 0 such that for n � 1;

C1 � cn=dn � C2:

Similar notation is used for functions and sequences of functions.
For Q as in Theorem 1, we let an = an(Q) denote the nth Mhaskar{Rahmanov{

Sa� number for Q, that is an is the positive root of the equation

n =
2

�

Z 1

0

antQ
0(ant)p
1� t2

dt; n � 1: (17)

It follows from the convexity of Q that an is well de�ned. One of its properties is
[13, 14, 16]:

kPWkL1(R) = kPWkL1[�an;an]; P 2 Pn: (18)

As an example, if Q(x) = jxj� , then

an = Cn
1=� ; n � 1;

where the constant C is explicitly given in terms of the gamma function. In the
general case above,

an = O(n
1=A) = o(n): (19)

We also need the relationship between the quadrature rule I�n[k; � ] and the re-
lated quadrature rule In[k; � ] based on the zeros of pn and studied in [9]. Let
f`jngnj=1 denote the fundamental polynomials of Lagrange interpolation for the ze-
ros fxjngnj=1 of pn and f`�jngn+1j=0 denote the fundamental polynomials for fx�jng

n+1
j=0 .

Let

In[k; f ] :=
nX
j=1

wjn[k]f(xjn) =

Z 1

�1
Ln[f ](x)k(x)dx (20)

denote the interpolatory rule at the zeros fxjngnj=1 of pn and let

Gn[f ] :=
nX
j=1

�jnf(xjn) (21)



denote the Gauss quadrature rule for W 2. Note that

Gn[ � ] = In[W 2; � ]: (22)

We again emphasize that I�n; L
�
n involve n + 2 points, whereas In; Ln involve n

points, but no confusion should arise.
Finally, we need the weighted error in best approximation

En[f ] := inf
P2Pn

k(f � P )WkL1(R) : (23)

The following result shows that the w�jn are close to the wjn :

Theorem 2. Assume that W is as in Theorem 1, and that k : R! R satis�es�
kW�1� (x)xj 2 L1(R); j = 0; 1; 2; : : : .
(a) There exist C1 6= C1(n; k) such that

nX
j=1

��w�jn[k]� wjn[k]�� W�1(xjn)p
1 + jxjnj

� C1Tn; (24)

where

Tn :=

� ����Z
R
(kpn) (x)dx

����+ ����Z
R
(kpn) (x)

x

an
dx

���� � : (25)

(b) Given 0 < � < 1, there exist Cj 6= Cj(n; k); j = 2; 3 such that for n � C2;

max
jxjnj��an

��w�jn[k]� wjn[k]��W�1(xjn) �
C3
p
an

n
Tn: (26)

(c) There exist C4 6= C4(n; k) such that�
j w�0n[k]j+

�� w�n+1;n[k]��� �W�1 (�n) �
C4
p
an

n1=6
Tn: (27)

Corollary 3. If
kkW�1kL1(R) <1;

then
Tn � C1a1=2n En�1[kW

�2] � C2a1=2n (28)

and so as n!1;

max
jxjnj��an

��w�jn[k]� wjn[k]��W�1(xjn) = O
�an
n

�
= o(1): (29)



If also as n!1;
En[kW

�2] = o

�
1

log n

�
; (30)

then
max

jxjnj��an

��w�jn[k]� �jnk(xjn)��W�1(xjn) = o
�an
n

�
= o(1): (31)

We note that explicit asymptotics for the Christo�el numbers �jn are available
under more assumptions on Q, see [7].
The results of this paper are proved in the next two sections.

2. PROOF OF THEOREM 1

We begin with some notation. Throughout, we assume that W := e�Q is as in
Theorem 1, and that 1 < p <1, q := p= (p� 1), � > 0; � 2 R. To emphasize the
dependence of wjn on k we write wjn[k] below. Note that wjn is linear in k.
If J : X ! Y is a linear operator between the normed spaces X;Y over the

reals, we write
kJkX!Y := sup

�
kJ [f ]kY : kfkX � 1

	
;

where k � kX is the norm on X and so on. We let X� denote the dual of X, that
is the space of bounded linear functionals from X to R, with norm k � kX!R.
The proof of the following lemma is essentially the same as that of Lemma 2.1

in [9] and the main ideas appeared earlier in [17] but we provide the details.

Lemma 4. Let � : R! [0; 1] be an even function that is decreasing in (0;1) and
satis�es

lim
x!1

�(x) = 0 (32)

and
1 � �(x) � (1 + x2)�1; x 2 [0;1): (33)

De�ne spaces X;Y; Z as follows: X is the space of continuous g : R! R with

kgkX :=


g(x)W (x) (1 + jxj)� �(x)�1



L1(R)
<1; (34)

Y is the space of measurable k : R! R with

kkkY :=



k(x)W (x)�1 (1 + jxj)�




Lq(R)
<1; (35)

Z is the space of measurable h : R! R with

khkZ :=



h(x)W (x) (1 + jxj)��




Lp(R)
<1: (36)



(i) Then

kI�n[k; � ]kX!R =
n+1X
j=0

jwjn[k]jW�1 �x�jn� �1 + ��x�jn����� � �x�jn� ; (37)

and
kI�n[ � ; � ]kY!X� = sup

kkkY �1
kI�n[k; � ]kX!R = kL

�
nkX!Z : (38)

(ii) Moreover,
sup
n�1

jI�n[k; f ]j <18 f 2 X; 8 k 2 Y (39)

i�
B := sup

n�1
kL�nkX!Z <1: (40)

In this case,
kI�n[k; � ]kX!R � BkkkY 8 k 2 Y: (41)

Proof.

(i) Firstly (37) is an immediate consequence of the de�nition of kI�n[k; � ]kX!R.
Next, from (4) and by duality of Lp(R) and Lq(R),

sup
kkkY �1

jI�n[k; f ]j = sup
kkkY �1

����Z 1

�1
L�n[f ](x)k(x)dx

����
= sup

khkLq(R)�1

����Z 1

�1
L�n[f ](x)W (x) (1 + jxj)

��
h(x)dx

����
=




L�n[f ](x)W (x) (1 + jxj)��



Lp(R)

= kL�n[f ]kZ :

So
sup

kfkX�1
sup

kkkY �1
jI�n[k; f ]j = sup

kfkX�1
kL�n[f ]kZ = kL�nkX!Z :

Interchanging the sup's on the left-hand side gives (38).

(ii) Note that I�n[k; f ] is linear in both f and k. Firstly if B in (40) is �nite,

jI�n[k; f ]j � kI�n[k; � ]kX!RkfkX
� kI�n[ � ; � ]kY!X�kkkY kfkX � BkkkY kfkX ;



by (38) and (40). Then (39) follows. Conversely suppose that (39) is true
for all f 2 X and k 2 Y . Note that X and Y are Banach spaces. Then the
uniform boundedness principle gives for each �xed k 2 Y ,

sup
n�1

kI�n[k; � ]kX!R <1:

But as the map that sends k 2 Y to In[k; � ] 2 X� is linear in k, the uniform
boundedness principle gives

B := sup
n�1

kI�n[ � ; � ]kY!X� <1:

Then (38) gives (40). �

The following lemma relates the rules I�n; In; and Gn:

Lemma 5.

(a) For 1 � j � n;

w�jn[k]� wjn[k]

=
�1

p0n(xjn)
�
�2n � x2jn

� Z 1

�1
(kpn) (x) (xjn + x) dx; (42)

w�0n[k] =
1

2pn (�n) �n

Z 1

�1
(kpn) (x) (�n + x) dx; (43)

w�n+1;n[k] =
1

2pn (��n) �n

Z 1

�1
(kpn) (x) (�n � x) dx: (44)

(b) If k = SW 2, where S is a polynomial of degree � n� 2, then

w�jn[k] = wjn[k]; 1 � j � n; (45)

w�0n[k] = 0 = w�n+1;n[k]; (46)

I�n[k; f ] = In[k; f ] = Gn[Sf ]; (47)

I�cn [k; f ] = Gn [jSjf ] : (48)



Proof.

(a) This follows easily from the identities relating the fundamental polynomials
`jn and `

�
jn. Indeed, for 1 � j � n;

`�jn(x) = `jn(x)

 
x2 � �2n
x2jn � �2n

!
;

and

`�0n(x) =
pn(x)

2pn (�n) �n
(�n + x); `

�
n+1;n(x) =

pn(x)

2pn (��n) �n
(�n � x):

Then if 1 � j � n,

w�jn[k]� wjn[k] =

Z 1

�1
k(x)

�
`�jn(x)� `jn(x)

�
dx

=

Z 1

�1
k(x)

"
`jn(x)

x2 � x2jn
x2jn � �2n

#
dx:

As

`jn(x) =
pn(x)

p0n(xjn) (x� xjn)
;

(42) follows, and (43) is easier.

(b) Firstly (45) and (46) follow immediately from the orthogonality of pnW
2 to

polynomials of degree < n. Next, the fact that Gn is exact for polynomials of
degree � 2n� 1 shows that for P of degree � n+ 1,

Gn[SP ] =

Z 1

�1
PSW 2 =

Z 1

�1
Pk = I[k;P ]

so by uniqueness of the interpolatory quadrature rule, we obtain (47). Finally
then

wjn[k] = �jnS(xjn)

so

I�cn [k; f ] =
nX
j=1

jwjn[k]j f(xjn) =
nX
j=1

�jn jS(xjn)j f(xjn) = Gn
�
jSjf

�
:

�



Proof of the Su�ciency Part of Theorem 1.
Let X;Y; Z be the spaces de�ned in Lemma 4. Fix a function f : R! R that is
Riemann integrable in each �nite interval and that satis�es (13). Note that we may
�nd a function � satisfying (32) and (33) such that kfkX is �nite. We may use the
notation kfkXeven though f need not belong to X, since the norm is well de�ned
and �nite. Now Theorem 1.3 in [9] implies that

lim
n!1

kL�n[g]� gkZ = 08 g 2 X:

Then the uniform boundedness principle shows that (40) holds. (We note that
X � Z, so that the identity operator from X to Z is bounded.) We shall use (40)
and convergence theorems for Gauss quadrature to prove (12) and (16) for the given
f . First let S be a polynomial of degree � m say, and let

k1 := SW
2:

For n � m+ 2, we have (47) and (48). Now choose an entire function

G(x) :=

1X
j=0

g2jx
2j ; g2j � 0; j � 0

such that
C1 � G(x)W 3=2(x) � C2; x 2 R:

Such functions were constructed for example in Chapter 6 of [7]. Then

jSf j (x)=G(x) � C�11 jSf j (x)W 3=2(x)! 0; jxj ! 1

in view of (13) and the fact that W decays faster than any polynomial. AlsoZ 1

�1
G(x)W 2(x)dx � C2

Z 1

�1
W 1=2(x)dx <1:

A classical convergence theorem on Gauss quadrature [3,p.94] implies that

lim
n!1

I�cn [k1; f ] = lim
n!1

Gn
�
jSjf

�
=

Z 1

�1
jSjfW 2 = I [jk1j; f ] : (49)

Next consider an arbitrary k 2 Y . We have���I�cn [k; f ]� I [jkj; f ] ���
�
���I�cn [k; f ]� I�cn [k1; f ] ���
+
���I�cn [k1; f ]� I [jk1j ; f ] ���+ ���I [jk1j ; f ]� I [jkj; f ] ���

=: �1n + �2n + �3:



Now

�1n =

������
n+1X
j=0

� ��w�jn[k]��� ��w�jn[k1]�� �f(x�jn)
������

� kfkX
n+1X
j=0

��� ��w�jn[k]��� ��w�jn[k1]�� ���W�1(x�jn)
�
1 +

��x�jn����� �(x�jn)
� kfkX

n+1X
j=0

��w�jn[k]� w�jn[k1]��W�1(x�jn)
�
1 +

��x�jn����� �(x�jn)
= kfkX

n+1X
j=0

��w�jn[k � k1]��W�1(x�jn)
�
1 +

��x�jn����� �(x�jn)
= kfkX kI�n [k � k1; � ]kX!R � BkfkX kk � k1kY

by (37) and (41). Next we showed at (49) that

lim
n!1

�2n = 0:

Finally,

�3 : =
���I [jk1j ; f ]� I [jkj; f ] ��� = ����Z 1

�1
[jk1j � jkj] f

����
� kfkX

Z 1

�1
jk1 � kj (x)W�1(x) (1 + jxj)�� �(x)dx

� kfkXkk � k1kY



(1 + jxj)���� �(x)




Lp(R)
;

by H�older's inequality. Since � � 1, and � + � > 1
p by our hypothesis (15), the

estimates for �1n; �2n; �3 yield

lim sup
n!1

���I�cn [k; f ]� I [jkj; f ] ��� � CkfkXkk � k1kY
where C is independent of f; k; k1. Next by our hypothesis (14) on k,

kk � k1kY =



 �kW�2 � S

�
(x)W (x) (1 + jxj)�





Lq(R)

<1

andW (x) (1 + jxj)� decays faster at1 than exp (�jxj), so we can �nd a polynomial
S(x) for which the last term is as small as we please (see [4] or [6]). Then (16) follows.



We turn to the proof of (12). Let f be as above and P be a polynomial of degree
� m. We have for n � m� 1;���I�n[k; f ]� I[k; f ]��� =

���I�n[k; f � P ]� I[k; f � P ]���
�

n+1X
j�0

��w�jn[k]�� jf � P j(x�jn) + Z 1

�1
jkj jf � P j

! 2

Z 1

�1
jkj jf � P j; n!1;

by the above convergence of the companion rule (The argument we applied to f
applies equally well to jf �P j). In turn, we can bound this via H�older's inequality,
by

� 2



k(x)W (x)�1 (1 + jxj)�




Lq(R)




(f � P )(x)W (x) (1 + jxj)��



Lp(R)

:

Here 


f(x)W (x) (1 + jxj)��



Lp(R)

� kfkX



(1 + jxj)���� �(x)




Lp(R)
<1

and W (x) (1 + jxj)�� decays at 1 faster than exp (�jxj) at 1, so given " > 0, we
can �nd a polynomial P such that


(f � P )(x)W (x) (1 + jxj)��




Lp(R)
< ":

Then (12) follows. �

Proof of the Necessity Part of Theorem 1.

Let �(x) := ( log ( 2 + jxj))�1=(2p) ; x 2 R. We assume that (12) holds for every
continuous f satisfying (13) and every measurable k satisfying (14). Then (39)
follows and by Lemma 4(ii), we have (40). That is 8 f 2 X and n � 1, we have


L�n[f ](x)W (x) (1 + jxj)��




Lp(R)
= kL�n[f ]kZ

� BkfkX = B


f(x)W (x) (1 + jxj)� �(x)�1



L1(R)
:

This is precisely the �rst step in the necessity part of Theorem 1.4 in [10] (see (49)
there). Then exactly as there, we deduce (15). �

3. PROOF OF THEOREM 2 AND COROLLARY 3



We �rst need some estimates on p0n(xjn) and so on. Throughout, we let

�n(x) :=

����1� ��� xan
�������+ n�2=3; x 2 R; n � 1:

Lemma 6.

(a) For n � 1; j = 0; 1 ����1� x�jnan
���� � Cn�2=3; (50)

and for 1 � j � n+ 1; ��x�jn � x�j�1;n�� � an
n
��1=2n (x�jn): (51)

(b)
sup
x2R

jpnW j (x) � a�1=2n n1=6: (52)

(c) Let 0 < p � 1; L > 0. There exists C > 0 such that for n � (2L)3=2 and
P 2 Pn,

kPWkLp(R) � CkPWkLp(jxj�an(1�Ln�2=3)): (53)

In particular, given k � 1, we have for n > k and P 2 Pn,

kPWkLp(R) � CkPWkLp[�an�k;an�k]: (54)

(d) For 0 � j � n; n � 1;

1 +
��x�jn�� � 1 + ��x�j+1;n�� : (55)

(e) For 1 � j � n and n � 1,��p0n(W 2; xjn)
��W (xjn) � n

a
3=2
n

�n(xjn)
1=4: (56)

(f) For n � 1;
a1n

1=B � an � a1n1=A: (57)



(g) For n � 1 and 0 � j � n,

�n(x) � �n(x�jn) � �n(x�j+1;n); x 2 [x�j+1;n; x�j�1;n]: (58)

(h) Z 1

�1
jpnW j � a1=2n : (59)

Proof.

(a) For j = 1 (50) is Corollary 1.2(a) in [5,p.466] and for j = 0, it was proved
by J. Szabados [20,p.104,Lemma 2]. For 2 � j � n, (51) was proved in [1] (a
weaker form appeared in [5]). J. Szabados [20,p.105,Lemma 4] proved that

jx�1n � x�0nj � ann�2=3 �
an
n
��1=2n (x1n)

so (51) is true also for j = 0. The case j = n+ 1 is similar.

(b) is part of Corollary 1.4 in [5,p.467].

(c) Firstly (53) is a special case of Theorem 1.8 in [5,p.469]; (54) follows from
(53) together with the fact that for k �xed, n!1;

an
an�k

= 1 +O

�
1

n

�
:

(See Lemma 5.2(c) in [5,p.478]).

(d) This is an easy consequence of the spacing (51).

(e) This is part of Corollary 1.3 in [5,p.467].

(f) This is Lemma 5.2(b) in [5,p.478].

(g) This follows from Lemma 5.2(c) in [11,p.47].

(h) This the case p = 1 of Theorem 1 in [11,p.44]. �

We turn to

The proof of Theorem 2.



(a) Recall �rst that x�jn = xjn for 1 � j � n. Assume that we �x j with xjn � 0.
Now from (42) and (50), with Tn given by (25),��w�jn[k]� wjn[k]�� � 1��p0n(xjn) ��2n � x2jn���

� ����Z 1

�1
(kpn) (x)xdx

����
+ Can

����Z 1

�1
(kpn) (x)dx

���� �

�
Ca

3=2
n

��x�j�1;n � x�jn���n(x�jn)1=4W (xjn)���2n � x2jn�� Tn:

In the last line, we used (51) and (56). Next, from (50) and (51),

j�n � xjnj = jx0n � xjnj � an
� ����1� xjnan

����+ n�2=3� = an�n(xjn)
so we deduce that��w�jn[k]� wjn[k]�� �W (xjn)

� Ca�1=2n

��x�j�1;n � x�jn���n(xjn)�3=4Tn: (60)

A similar estimate holds for xjn < 0. Adding over j and using (55) and (58)
gives

nX
j=1

��w�jn[k]� wjn[k]�� W�1(xjn)p
1 + jxjnj

� C1a�1=2n Tn

Z an

�an

�
�3=4
n (t)p
1 + jtj

dt

� C1a�1=2n Tn

 Z 1
2an

0

dtp
1 + t

+ a�1=2n

Z an

1
2an

��3=4n (t)dt

!

� C1Tn

 
1 +

Z 1

1
2

���1� juj��+ n�2=3��3=4 du! � C2a�1=2n Tn:

(b) For jxjnj � �an, we have �n(xjn) � 1 uniformly in j and n. Then (60) and
(51) give uniformly in j and n,

��w�jn[k]� wjn[k]�� �W (xjn) � Cpann Tn:



(c) From (43)

jw0n[k]=W (�n)j =
1

2 jpnW j (�n)

����Z 1

�1
(kpn) (x)

�
1 +

x

�n

�
dx

����
� Ca1=2n n�1=6

� ����Z 1

�1
(kpn) (x)dx

����+ an�n
����Z 1

�1
(kpn) (x)

x

an
dx

���� �
by (52) and then (27) follows. �

Proof of Corollary 3.
Now by orthogonality, if S is a polynomial of degree � n� 1;����Z

R
(kpn) (x)

x

an
dx

���� =

����Z
R

�
kW�2 � S

�
(x)
�
pnW

2
�
(x)

x

an
dx

����
�



�kW�2 � S
�
W



L1(R)

Z
R

jpnW j (x)
���� xan

���� dx
� C



�kW�2 � S
�
W



L1(R)

a1=2n

by (54) and then (59). Taking the inf 0 s over S gives����Z
R
(kpn) (x)

x

an
dx

���� � CEn�1[kW�2]a1=2n � CkkW�1kL1(R)a1=2n :

The other term in Tn admits a similar estimate and we deduce (29). Finally, if the
estimate (30) holds, then in Theorem 1.3 in [9], we proved that

max
jxjnj��an

���wjn[k]� �jnk(xjn)���W�1(xjn) = o
�an
n

�
= o(1):

�

References

[1] G. Criscuolo, B. Della Vecchia, D.S. Lubinsky and G. Mastroianni, Functions
of the Second Kind for Freud Weights and Series Expansions in Hilbert Trans-
forms, J. Math. Anal. Applns., 189(1995), 256{296.

[2] G. Criscuolo, L. Scuderi, Convergence of Product Quadrature Rules with Pre-
assigned Nodes, Indian J. Math., 39(1997), 75{90.



[3] G. Freud, Orthogonal Polynomials, Pergamon Press/ Akademiai Kaido, Bu-
dapest, 1966.

[4] P. Koosis, The Logarithmic Integral I, Cambridge University Press, Cambridge,
1988.

[5] A.L. Levin and D.S. Lubinsky, Christo�el Functions, Orthogonal Polynomials
and Nevai's Conjecture for Freud Weights, Constr. Approx., 8(1992), 463{535.

[6] G.G. Lorentz, M. von Golitschek, Y. Makovoz, Constructive Approximation,
Advanced Problems, Springer, Berlin, 1996.

[7] D.S. Lubinsky, Strong Asymptotics for Extremal Errors and Polynomials Asso-
ciated with Erd�os Type Weights, Pitman Research Notes in Mathematics, Vol.
202, Longman, Harlow, 1989.

[8] D.S. Lubinsky, An Update on Orthogonal Polynomials and Weighted Approxi-
mation on the Real Line, Acta Applicandae Mathematicae, 33(1993), 121{164.

[9] D.S. Lubinsky, Convergence of Product Integration Rules for Weights on the
Whole Real Line, (in) Contributions in Numerical Mathematics (R.P. Agarwal,
ed.), World Scienti�c Series in Applicable Analysis, Vol. 2, World Scienti�c,
Singapore, 1993, pp. 255{270.

[10] D.S. Lubinsky and G. Mastroianni, Mean Convergence of Extended Lagrange
Interpolation with Freud Weights, to appear in Acta Math. Hungarica.

[11] D.S. Lubinsky and F. Moricz, The Weighted Lp Norms of Orthonormal Poly-
nomials for Freud Weights, J. Approx. Theory, 77(1994), 42{50.

[12] G. Mastroianni, P. Vertesi, Error Estimates of Product Quadrature Formulae,
Numerical Integration IV, ISNM Series Vo. 112, Birkh�auser (1993), 242{252.

[13] H.N. Mhaskar and E.B. Sa�, Where Does The Sup Norm of a Weighted Poly-
nomial Live?, Constr. Approx, 1(1985), 71{91.

[14] H.N. Mhaskar and E.B. Sa�, Where Does The Lp Norm of a Weighted Poly-
nomial Live?, Trans. Amer. Math. Soc., 303 (1987), 109{124.

[15] P. Nevai, Geza Freud, Orthogonal Polynomials and Christo�el Functions: A
Case Study, J. Approx. Theory, 48(1986), 3{167.

[16] E.B. Sa� and V. Totik, Logarithmic Potentials with External Fields, Springer,
Berlin, 1997.

[17] I.H. Sloan and W.E. Smith, Properties of Interpolatory Product Integration
Rules, SIAM J. Numer. Anal., 19(1982), 427{442.



[18] W.E. Smith and I.H. Sloan, Product Integration Rules Based on the Zeros of
Jacobi Polynomials, SIAM J. Numer. Anal., 17(1980), 1{13.

[19] W.E. Smith, I.H. Sloan, A.H. Opie, Product Integration Rules Over In�nite
Intervals I. Rules Based on the Zeros of Hermite Polynomials, Math. Comp.,
40(1983), 519{535.

[20] J. Szabados, Weighted Lagrange and Hermite-Fejer Interpolation on the Real
Line, J. of Inequal. and Applns., 1(1997), 99{123.


